

For Jenerations to Come

Establishing an Enduring Legacy of Transformational Healing







The abundant life we are meant for is only possible if we engage the stark realities of trauma and abuse. At the Allender Center, we're joining with God in the powerful work of engaging stories of heartache to bring forth restoration and healing for individuals, families, and communities for generations to come.

This journey began with a profound calling that stirred the hearts of our founders decades ago. What began as a whisper has grown into a mission to bring about transformative healing on a broader scale.

We are now at a pivotal moment, and we invite you to play a crucial role in moving the legacy of Dan and Becky Allender forward. We've identified four critical projects that will shape the future of the Allender Center and ensure that this invaluable work continues to thrive and remains accessible to all.

By investing in these projects, you're not just supporting an organization – you are making a difference that will last **for generations to come**.

Will you join us?



Zeanette White

Jeanette White
Allender Center Executive Director

1

Formalize the Narrative Focused Trauma Care Methodology

Certify Narrative Focused
Trauma Care Providers

By establishing our Narrative Focused Trauma Care (NFTC) method as a recognized and evidence-based model, we're not just gaining credibility; we're widening the doors for countless more individuals, families, and communities to find healing.

This initiative will evaluate our NFTC model in relation to other trusted trauma care models, conduct research to gain insight into why our approach works, and validate the effectiveness of its restorative healing capacity. Funding will be utilized for a team of researchers and writers, publication of professional articles and popular works, and an expansion strategy to get Narrative Focused Trauma Care on the map in more training and care provider contexts.

This will allow the NFTC model to become established and trusted in various settings, including classrooms, therapy relationships, and churches, and ultimately draw more learners to become equipped with the skills necessary to offer this form of healing. The certification of Narrative Focused Trauma Care providers is a commitment to excellence in trauma care.

Funding will be utilized to design and introduce a new, culminating skills-based assessment process. Eligible learners will have the opportunity to demonstrate core competencies in the Narrative Focused Trauma Care method and apply for formal recognition as NFTC Certified. Additional funding will be allocated to create an environment where practitioners are offered ongoing professional development experiences to enhance and deepen their skills.

This initiative benefits not only our alumni but also those seeking support. With the addition of a formal assessment to reach NFTC Certified status, individuals facing trauma can trust in the highest level of expertise of those trained in the NFTC model, amplifying the positive impact of our work and fostering a culture of healing.

Note: Learners who do not wish to become officially certified will be recognized according to their highest level of training (e.i. Trained in Level II, Trained in Level III).







Develop an Ecosystem for Alumni

Transition to a Model-Centric Future

Our vast network of past, present, and future-trained alumni becomes a force for good, spreading the transformative power of Narrative Focused Trauma Care.

Funding for this initiative will be allocated to the development and implementation of an NFTC Care Provider Directory and an alumni membership experience that includes ongoing professional development and networking opportunities for alumni.

By fostering connections and providing resources, we're not just creating a community; we're amplifying the collective impact of our alumni. This initiative also ensures that those seeking care can easily connect with skilled providers, creating a ripple effect of healing that extends far beyond our immediate reach.

In this initiative, funding will support the encapsulation and dissemination of Dan Allender's groundbreaking core concepts into replicable program formats. Additionally, we'll pursue trademarks and formal copyrighting of intellectual property tied to Narrative Focused Trauma Care. Furthermore, we'll cultivate a robust team of educators who will perpetuate the essence, values, and energy of our mission.

While Dan and Becky plan to remain involved with the Allender Center into the foreseeable future, this shift towards a model-centric approach builds toward alleviating our reliance on the Allender's constant direct presence and empowers us all to carry on the work God placed on their hearts decades ago, ensuring and amplifying a lasting impact on confronting trauma and abuse.







Investment Opportunities

Support the Allender Center's mission to bring healing and transformation to individuals, families, and communities for generations to come. Your generous donation will play a pivotal role in moving this legacy forward through this multi-year campaign.

Here's how you can contribute:

One-Time Donation:

Make a direct impact by providing a one-time donation to support the entire initiative.

Initiative-Specific Support:

Choose a specific initiative that resonates with you and direct your contribution toward its success.

Monthly Pledge:

Consider making a lasting impact by committing to a monthly pledge, allowing us to plan for sustained growth and impact.

Give at <u>theallendercenter.org/give</u> or by personal check mailable to: Allender Center, 2501 Elliott Avenue, Seattle, WA 98121

NUMBER OF GIFTS	AMOUNT	TOTAL
2	\$250,000	\$500,000
3	\$100,000	\$300,000
4	\$75,000	\$300,000
5	\$50,000	\$250,000
8	\$25,000	\$200,000
10	\$10,000	\$100,000
20	\$5,000	\$100,000
50	\$1,000	\$50,000
	TOTAL GOAL	\$2,000,000